Rules for Adding and Subtracting Integers
This document shows how to symbolically add and subtract integers using rules.  You are encouraged to read the separate documents showing how to add and subtract integers with manipulatives and with number lines.
Adding Integers
1) When adding integers of the same sign, add their absolute values, and give the result the same sign. 

Examples: 

2 + 5 = 7
(–6) + (–2) = –(6 + 2) = –8 
(–30) + (–24) = –(30 + 24) = –54 
2) When adding integers of the opposite signs, take their absolute values, subtract the smaller from the larger, and give the result the sign of the integer with the larger absolute value. 

Example: 8 + (–3) = ? 
The absolute values of 8 and –3 are 8 and 3. Subtracting the smaller from the larger gives 8 – 3 = 5, and since the larger absolute value was 8, we give the result the same sign as 8, so 8 + (–3) = 5. 

Example: 6 + (–15) = ?

The absolute values of 6 and –15 are 6 and 15. Subtracting the smaller from the larger gives 15 – 6 = 9, and since the larger absolute value was 15, we give the result the same sign as –15, so 6 + (–15) = –9. 

Example: –40 + 15 = ?

The absolute values of –40 and 15 are 40 and 15. Subtracting the smaller from the larger gives 40 – 15 = 25, and since the larger absolute value was 40, we give the result the same sign as –40, so –40 + 15 = –25. 

Example: 41 + (–41) = ? 

The absolute values of 41 and –41 are 41 and 41. Subtracting the smaller from the larger gives 41 – 41 = 0.  Since 0 and –0 are the same, the sign in this case does not matter.  Notice that 41 and –41 are opposite integers. All opposite integers have the property that their sum is equal to zero. Two integers that add up to zero are also called additive inverses. 
Subtracting Integers
To subtract signed numbers use the following rule:  a – b = a + (–b).  Here, (–b) means the opposite of b.  Note that the opposite of b might be positive or might be negative.  Subtracting an integer is the same as adding its opposite.
Examples: 

In the following examples, rewrite as addition then add the two integers.
7 – 4 = 7 + (–4) = 3
13 – (–5) = 13 + (5) = 18
–9 – 7 = –9 + (–7) = –16
–22 – (–37) = –22 + (37) = 15
5 – 7 = 5 + (–7) = –2
–12 – 5 = –12 + (–5) = –17
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